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1.

INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put histher signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.

[llustration:

1. Thesumof20and 12is

(@)32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheetas under:

1 @ ® © O

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked asincorrect.

The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

Keep OMRAnswer Sheet straight. Do not fold it.

All questions are compulsory, each question carries one
mark.

Use of calculator/mobile/any electronic item/objection
materialis NOT permitted.

Controller of Examinations

AT W & fe aref fervie, gfarer &1 Refr 7 sidrit & @ wow &7 sifem 7w g

Please note that in case of any confusion, the question printed in English may be considered final.
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What should be added to the terms of the ratio
2:5to get 3:7?

@ 14
(b) 3/4
) 13-
d 23

A total of T 15 is made up of 180 coins which
are either 10 paise or 5 paise coins. The number
of coins of 10 paise are:

(@ 120
® 60
c 80
@ 90

A sum of money doubles itself, when rate of
interest per annum is same as the number of years.
Calculate the time.

(@ 12 Years
(b) 10Years
(c) 14Years
(d 16 Years

A cyclist covers a distance of 750 meter in 2
minutes 30 seconds. What is the speed in
km/hr. of cyclist?

(@ 16km/hr
(b) 17km/hr
() 18km/hr
(d 19km/hr

A man sells an article at 10% profit. If he had

bought it at 15% less and had sold it for ¥ 18
less, he would have gained 20%, the cost price
of the article is:

@ 175
®) 275
© T225
@ 325
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6. The harmonic mean is the reciprocal of

ofthe values.
@ Mem
(b) Median
(©) Mode

(d  Geometric mean

7. The number of observations is 11 andtheva
of arithmetic mean is 19 then sum of al] vah

is:
@ 209
®) 30
c 8
@ 173

8. A process by which we estimate the value (
dependent variable on the basis of one or moy
independent variables is called:

(@  Correlation
()  Regression
(©)  Residual
(d)  Slope
9. Calculate the median of the following set of data;

123,243, 322, 492, 537, 599, 620, 798, 812,
954

(@ 537
®d) 550
(c) 568
@ 599

10. Find the number of triangles in the given figure.

@ 34
b 36
(c) 38
@ 40
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11. A train covers a distance in 50 minutes, if it runs
at a speed of 48kmph on an average. Find the
speed at which the train must run to reduce the
time of journey to 40 minutes.

(@  50km/hr (b) 60km/hr
(c) 65km/hr (d 70km/hr

Directions for questions (12-13) there are three

shops A, B and C which sell different articles namely

L IT I, IV and V respectively. The discount offered

by each shop on different articles is given in the table.

‘DISCOUNT DISCOUNT | DISCOUNT

(ARTICLES | %BY | %BY | %BY
| | SHOPA | SHOPB | SHOPC
e % 3%
T v 28%
no 12% -
v ‘ 6% | Mk | -
T

12. Ifthe average selling price of an article I on all
shops is ¥ 4293, then find the selling price of

article Iinshop B :
(@) T4912 (b)  T4523
() T4374 ) T4312

13. Ifthe average selling price of article Il in shop A
and B is ¥3608 and that in shop B and C is
T 3300, then the discount offered by shop B
(inT)is?
(@ T968 () T732
© 1734 (d) T 862

14. Excluding stoppages, the speed of a bus is 54
kmph and including stoppages, it is 45 kmph.
For how many minutes does the bus stop per
hour ?
(a) 8minutes (b)
(¢) 12 minutes (d) 14 minutes

15. A shopkeeper cheats to the extent of 10% while
buying and selling, by using false weights. His

10 minutes

total gain is.
(@ 20% (b)) 21%
© 22% @ 23%
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(%) Gold

(@) Papergold
()  Papersilver
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ﬁshéaa&’twﬁmﬂ%ﬁwﬁwi%aﬁ#méa
el 78 27

(F) R Azex
(|) e
(). foem ax

(@) A

hwﬁmmmﬁs‘fa&mﬁaaﬁa‘.ﬁq
mﬁ%wm%@zm‘m'wm

(%) Punjab National Bank

(®) State Bank of India

()  CanaraBank

(9)  Oriental Bank of Commerce

émaﬂﬁmmﬁ@ﬁﬁﬁﬁw{ahﬁm
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(%) Microsoft

(®|) Google

() Vodafone

(|@) FTHINE 0

"CRATHAE T g T w27

(%) Annual Market Forecasting Institute
(®)  Association of Mutual Financial Institute
() Association of Mutual Federation in India
(%)  Association of Mutual Funds inIndia

T ——

16. Special Drawing Rights is also known as :

(@ Gold
(b)  Papergold
()  Papersilver

(d) None ofthese

17. Which among the following is not opene(

18.

19.

20.

private sector participation?

(@  Power sector

(®)  Telecommunication sector
(©  Education Sector

(d  Railways

Which bank has launched a unique credit ¢
'Unnati' targeted at including Jan Dhan accoy
holders across the country?

(@  Punjab National Bank

(b)  State Bank of India

(¢  CanaraBank

(d)  Oriental Bank of Commerce

Which of the following companies has partnere
with communication app Truecaller to integra
the tech giant's video calling app Duo?

(@  Microsoft
(b)  Google
(©)  Vodafone

(d)  None ofthe above

What is the full form of "AMFT"? ;

(@  Annual Market Forecasting Institute
(b)  Association of Mutual Financial Institute
(¢)  Association of Mutual Federation in India
(d)  Association of Mutual Funds in India



1 e e el e T o S @

. v af ¥ veel vaadla deer & i @7

(®) 1952

)
(¥) 1983

q AEIR & N A - qEG E TR

3

w) Reaw oy
(@) =fies e
(@) < Ru v

. W H AR S AR R @ wae W

- Tefie w27

(%) SwndR

(|@) o= ad

() wgsad

(w) &fe a9

. Wi IGST ¥, s T w1 27
(%) Integrated

(®) Interim

(\)  Interest

(¥) India

21.

22.

23.

24.

25.

The economic system in which business units or
factors of production are privately owned and
governed is called 4s

(a) Capitalism
(b)  Socialism

(¢) Democratic

(d)  Republic

The first five year plan was given in which year?
(@ 1952

(b) 1950

() 1951

(d 1953

Which newspaper has the motto - Journalism of
Courage?

(@  TheHindustan Times
(b)  The Washington Post
(c)  TheIndian Express
(d) TheGuardian

Name the Brand that advertises itself with the
slogan 'The Vision of Sound'?

(@  SamsungTVs

(b) SonyTVs
(¢) SansuiTVs
(d BPLTVs

In the abbreviation IGST, the letter T stands for
what ?

(a) Integrated
(b) Interim
(c) Interest

@) India
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Which of the following Organisations/ Institutions
releases World Investment Report annually ?

(@) World Bank

() IMF
(c) UNCTAD
@ IDA

This company set up a lab in Bengaluru in
association with US chipmaker Intel to prepare
for 5G services.

(@  TechMahindra

() TCS
(c) Infosys
(d) Wipro

Which company becomes the world's biggest
seller of light vehicles in 2017?

(@  ToyotaCorolla
(b) Rolls-Royce
(¢)  Renault-Nissan
(d) Ford

The rate of interest at which Reserve Bank of
India lends short term funds to the Commercial
Banks is known as -:

(@ RepoRate

(b) Reverse Repo Rate

(©) PrimeLending Rate (PLR)
(d) Noneofthe above

In India the Credit rating agencies are regulated
by: .

() SEBI
(b) RBI
(c FIMMDA

@ PFRDA
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31.
_ communication is

32.

33.

34.

35.

The most important goal of business

(a) Favorable 'relationship between sender
and receiver

(b)  Organizational goodwill
(¢)  Receiverresponse
(d) Receiverunderstanding

The formal greeting with which a business letter
begins is called :

(@ Reference
(b)  Subject

(c)  Salutation
(d) Bodycopy

Good business letters are characterized by the
following personal quality of the writer :

(a)  Seriousness

(b)  Sincerity

(c)  Humor

(d) Formality

In issuing instructions, one should avoid the :
(@  Subjunctive form

(b) Activevoice

(¢) Imperative form

(d) Passivevoice

How many kinds of articles are there in English?
(@  Three: a,an, and the

(b)  Two: definitive and indefinitive

(c)  Five: a, an, the, definitive and indefinitive

(d One:a
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36. A major theme of many insurance companies'
advertisements is the of their finances
and the security of their investments.

(@)  Visibility
(b)  Fluctuations
(c)  Stability

(d) Imposition

37. Investors are interestedina company
that shows initiative and develops new products.

(a) Parallel

(b)  Circumstantial
(¢)  Thematic

(d)  Dynamic

Choose the word or group of words which is most
similar in meaning to the word printed in bold.
(Q.38,39)

38. Yokel
(2)  Intrigue
(b)  Simple-minded
(c)  Victorious
(d) Noise
39. Aesthetic
(a) Mediocre

(b) Prevalent
(© Ugly
(d) Beautiful

Choose the word or group of words which is most
opposite in meaning to the word printed in bold.
(Q.40,41)

40. Ecstasy Y
(a) Hate
(b)  Agony
(c) Languor
(d) Fatigue
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(%) Urbane
(|) W=
() i
()
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42, 'You are my best friend' - Which one is the
subject pronoun?

® My
(|®@) Are
() You
(a) Friend
43. My laptopisnot working. CanIuse  ?
(%) Your
(@) It
(@)  Yours
(o) Their

Iqgad TR W I FH A@d g W
(9F= 44, 45)

44. Theboywascured  typhoid.
(%) From
(@) Of
() For
(7)  Through

45. The chair of the arm is broken is to be
repaired.

(%) Whose
(&) Which
(3r) Whom
() That

41. Contrary
(@ Urbane °
(b) Agreeable
(¢) Unpleasant
(d) Despicable

Choose the most suitable answer that identifies
the pronoun in the sentence. (Q.42, 43)

42. 'You are my best friend' - Which one is the

subject pronoun?
(& My
(b) Are
(c) You
(d) Friend
43. Mylaptopisnot working. Canluse  ?
(@ Your
b)) I
(¢) Yours
(d) Ther

Complete sentence by using appropriate word.
(Q.44,45)

44. Theboy was cured typhoid.

(a From
(b) Of
(c) For
(d)  Through
45. Thechairof  thearmisbrokenis to be
repaired.
(@ Whose
(b) Which
(c) Whom
(d) That
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46.

47.

48.

49.

50.

Which of the following is a cultural organisation?

(@ UNESCO

() ILO

(c) WHO

(d FAO

Which of the following organizations creates the
topographical maps of India?

(@  Geological survey of India
(b)  SurveyofIndia

(©)  Geographical survey of India
(d) NoneofThem

Who is the author of the newly launched book
"Dilli Meri Dilli: Before and After 1998"?

(@)  SushmaSwaraj

(b) Madan Lal Khurana

(c)  SheilaDikshit

(d Chaudhary Brahm Prakash

Who won the women's singles title at the
Australian Open 2018?

(a) JanaNovotna

(b)  FlaviaPennetta

(¢)  SimonaHalep

(d  Caroline Wozniacki

What is the rank of India in the 2018 Global
Talent Competitiveness Index (GTCI)?

@ 81
(b) 88
© 102
@ 95
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51.

52.

53.

54.

55.

Who has been appointed as the new Chairman
of Indian Banks Association (IBA)?

() ChandaKochhar

(b)  Arundhati Bhattacharya

(¢)  UshaAnanthasubramanian

(d) NainaLal Kidwai

Who has been appointed as the new Election
Commissioner (EC) of India?

(@  RajivMehrishi

(b) AshokLavasa

(c) VijayKelkar

(d) HasmukhAdhia

Indiaranks  in the World Happiness
Report 2018.

(@ 80

(b) 86

(cy 100

(d 133

Who is the author of the book titled - Rebooting
India: Realizing a Billion Aspirations'?

(a)  Satyarth Joshi
(b)  Nandan Nilekani
(¢) Ratan Tata

(d)  Vishal Sikka

Who among the following is the author of the
book "India Shastra: Reflections on the Nation
in Our Time"?

(@  ArvindKejriwal
(b) Manmohan Singh
(¢)  Shashi Tharoor

(d LKAdvani



56.

57.

58.

59.

60.

AET BT, weE dafaw iRk REe &
AT EFamad?

(%) Hgen T AR
(@)
()
(%)

B IEC T A A RS T qEol T T B el
0w 27

(%) w4k
|) IR

(
() =@

ot
ELn]
TR fhwen

)
(7) R

P afie 2018 & Jeaafodl I TR F TR TN
w27

(%) Ry
@) % I
(W) dREERT
(=)
IR ¥ et - E U A ST g B

AL FRATE

T SR
ww e
™I RN
(w) =mfe=

X5 dEed T @Y D e iy ol
(g ) ara e w1 s foma ara 27

(%) % O AR AR
(@) v Renaffe
(n) e TR ER
(q) va o ERR

12

56.

57.

58.

59.

60.

Stephen Hawking, the legendary theoretical
physicist has passed away. He belonged to which

country?

(@  United States

(b) France

(¢)  Germany

(d)  United Kingdom

Which city recently became the first city in India
to have a Heli Taxi?

(@ Mumbai

(b)  Bengaluu

(c¢) Kochi

(d Delhi

Who tops in a 2018 Forbes Magazine list of
billionaires ?

(@ BillGates

(b) JeftBezos

(c)  Warren Buffet

(d Bernard Amault

Wal-Mart in India is associated with:
(a) BigBazaar

(b)  Spencer'sRetail

(c)  EasyDay Stores

(d)  SpurRetail

Which committee has been constituted by the
Reserve Bank of India (RBI) to look into bank
frauds?

(@ Y HMalegam committee
(b) AKX Misracommittee
(¢  Nandkumar Saravade committee

S Raman committee

d)




